
811110



Inhaltsverzeichnis

Seite 2 / 6 12.05.2025

Overrun device type 161R/L tube Ø88,9X5,6 (811110)           3



Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 3 / 6 12.05.2025



Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 4 / 6 12.05.2025

Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 4 / 6 12.05.2025
OD= overrun device, please specify the ETI- number when ordering

Drawbar with connection wells customized /at the time of order see grave drawing no. Overrun device)
Pos. 24, 25 and 26 not for a rotating version

Item no. Article no. Description Quantity Unit Remark

2 370557 Shock Absorber 161S 1 PC

3 700645 hexnut M12 DIN 980-V-10 ZP 1 PC For safety reasons: Self locking nuts and
screws with chemical self locking must be
used once. After untighten always use a
new part.

4 366356 Bellows 1 PC

5 371372 Damping rubber 1 PC

6 700645 hexnut M12 DIN 980-V-10 ZP 1 PC For safety reasons: Self locking nuts and
screws with chemical self locking must be
used once. After untighten always use a
new part.

7 357242 Distance bush 1 PC

8 705418 Hexagon screw M12x70 DIN 931 8.8 1 PC Old material number: 02.5021.77.82

9 583046 Bearing cartridge 1 PC

10 626895 Draw tube welded 1 PC

11 705544 Serrated lock washer A10,5 DIN 6798 3 PC Old material number: 02.5414.11.90

12 701334 Hexagon screw M10x16 DIN 933 8.8 VZ 3 PC

13 705526 hexnut M12 DIN 985-10 1 PC For safety reasons: Self locking nuts and
screws with chemical self locking must be
used once. After untighten always use a
new part.



Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 5 / 6 12.05.2025

Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 5 / 6 12.05.2025
OD= overrun device, please specify the ETI- number when ordering

Drawbar with connection wells customized /at the time of order see grave drawing no. Overrun device)
Pos. 24, 25 and 26 not for a rotating version

Item no. Article no. Description Quantity Unit Remark

14 368461 Conical grease nipple AS 8x1 DIN 71412 2 PC

15 380487 Deflection lever cpl. UNI iH=90:27 1 PC

15 380489 Deflection lever cpl. UNI iH=90:30 1 PC

15 380490 Deflection lever cpl. UNI iH=90:33,5 1 PC

15 384655 Deflection lever cpl. iH=90:27 1 PC mounted with grease nipple and fork head

15 385651 Deflection lever cpl. iH=90:30 1 PC

15 387984 Deflection lever cpl. iH = 90:33,5 1 PC

16 700203 Conical grease nipple AS 6x1 DIN 71412 1 PC

18 581145 Bearing screw M12x100 Ø19 1 PC

19 220096 Hand brake lever incl. brake away cable
161S-251S-161R

1 PC Incl. gas spring, brake away cable and
brake away ring

20 368605 Breakaway cable with hooks 950 mm
length for common commercial trailers

1 PC

21 705420 Hexagon screw M12x110 DIN 931 8.8 1 PC Old material number: 02.5021.81.82

22 370693 Washer Ø19x34x3 1 PC

24 706477 Serrated lock washer A8,4 DIN 6798 1 PC

25 583043 Bush 1 PC

26 583042 Bearing screw at drawing 1 PC

27 217738 Bowden cable overrun device 550/840 1 PC



Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 6 / 6 12.05.2025

Overrun device type 161R/L tube Ø88,9X5,6 (811110)

Seite 6 / 6 12.05.2025
OD= overrun device, please specify the ETI- number when ordering

Drawbar with connection wells customized /at the time of order see grave drawing no. Overrun device)
Pos. 24, 25 and 26 not for a rotating version

Item no. Article no. Description Quantity Unit Remark

27 217739 Bowden cable overrun device 700/990 1 PC

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Inhaltsverzeichnis
	Overrun device type 161R/L tube Ø88,9X5,6 (811110)

